O@

LOCTITE 243
sl

LOCTITE 243

250 EXC RACING SIX DAYS 2002 <2002><EU><810322>
IGNITION SYSTEM

Pos Part Number Description Additional Text Quantity
1 59030002000 IGNITION COVER 4K3B 2000 PULVERIZED 1.00
2 59030040000 IGNITION COVER GASKET 0,8MM 1.00
3 59039104000 STATOR CPL. 4K3B RACING 2000 1.00
4 59039105100 FLYWHEEL 4K3B RACING H.FORGED 1.00
5 59039034000 pulse generator KOKUSAN 4K3-A/ 1.00
6 59839031000 CDE-BOX 250 EXC RAC CU7461 01 1.00
7 59039006000 IGNITIONCOIL "IG5128" ONLY FOR SIX DAYS 1.00
8 59039090000 SPARK PLUG CONNECT.VDO5FG2000 1.00
9 59039093000 SPARK PLUG CR8EK 1.00
10 59030002050 SUPPORT FOR WIRE 1.00
11 0084040063 CYL.HEAD SCREW DIN0084-M 4X 6A 1.00
20 44011076100 CABLE TIE 100/2,5MM BLACK 0.00

680



29 49030090000 DOWEL 9,8 X7 X 10 FS-E 2.00
30 0015060353 HH COLLAR SCREW M 6X35 WS=8 LC4 ADVENTURE 2.00
31 0015060303 HH COLLAR SCREW M 6X30 SW=8 LC4, LC4 SM, DUKE 2.00
32 0015060203 HH COLLAR SCREW M 6X20 WS=8 2.00
34 0015050163 HH COLLAR SCREW M 5X16 WS=8 2.00
35 0014060203 HH COLLAR SCREW M 6X20 WS=8 2.00
36 0015060163 HH COLLAR SCREW M 6X16 WS=8 FE, FS 2.00




